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B.Tech 8th Semester Exam., 2019

IRRIGATION ENGINEERING
Time : 3 hours Full Marks : 70
Instructions -
(i} The marks are indicated in the right-hand margin.
(@) There are NINE questions in this paper.
(&) Attempt HVE guestions in all

(iv) Question No. 1 is compulsory.

1. Choose the correct answer of the following
{any seven) : 2x7=14
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@/me value of Sodium Absorption Ratio
for high sodium water lies between

fi) 0to 10
(i) 10 to 18
(i) 18 to 26

fiv) 26 to 34

AK9/908 { Tum Qver )
http://www.akubihar.com

wod reyIqnye mma;/diy

wodreyignye mmay/diy

http://www .akubihar.com

{ 3 )

(bl -~Th Kor depth for rice in 190 mm nnd Kor

(1)

(d)

AK9/908

period in 14 duys. The outlet fuctor for
thia will be

&-637 ha/m? /acc
(i) 837 ha/m /acc
fii) 972 ha/m* faec
fiv) 612 ha/m" /sec

.The water wutilizable by plants is
available in sails mainly in the fonn of

(V gravity water
“TR capillary water
M) hydioechpie waley

) hygroecopic water

The maximum application rale by
sprinklers in limited by

f) infiltration capacity of suil
A prevailing wind velocity
fii) quantity of water available

fiv) prevailing humidity and radintion

{ Continned )
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(4)

({3)
fe) The moisture tenmlon for a soil is B (v For medium silt whoae average grniln
atrnoaphere. The aoil in then at size is 0016 cm, Lacey's silt factor ia
A permanent wilting point likely to be
(i) field capncity N 030
{iil) opuimum molsture content w O4S
fiv) equivalent moisture Fo B\ T4
m 1A
(N Consumplive use refers 1o the lous of W cutting of 1
% . — R O CA 1a
waler as a resull of E _g{ ( Balanced depth of ¢
o , = = n half the total depth of canal
rvaporation and transpicaii = =
] pitation g E Ay half of full supply depth
l - - -
i} crop waler requirement 5 5 hij the maximum cut that an excavator
(i} evapomiation and VVEIN Y el gy % % can take htt}'-:.-"'.-""wwu-'.akubihat‘.cm‘n
= = . . I
ﬂd‘ evapuiatiog and Uannpiiation hmn E E {iv) where vnlum? of cutting is equal to
the ctopprd area o =} volume of filling
= =2
() What is the regime scour depth for a
(1) Acidic woil are reclalmed by channel in soil with silt factor ulmty m_-;d
carrying 8 m? /s of discharge intensity
() lenching of soil in accordance with Laccy's regime
(i) uming  limestone an @«  soil theory?
amendment fi) 36 m
i unin - (i) 4m
R RYpsum ans a noil amendment

fiif) 54 m

{iv) provision of drainage
_ fiv) 256 m
AKY /908
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(8)

points 10 he
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The intensities of urgation for Khanf and
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2. ) Dehine irmgation Ytate the ' - s Tiga ~
) considered  while recommending (he Rabt are 50% and 53% respectively. If the
" necessity of irrigation 7 duties for Kharif and Rabi are 1200
{ sprinkler hectares/cumec and 1400 hectares/cumec
(h) What ate different types o | lw“l"“, respectively, determine the discharge at the
method  of  distribution "krt . . head of the canal considering 20% provisions
Desctibe biiefly with a neal skete for transmission loss, overlap allowance,
evaporation loss, etc. 14
3. (¢ Matethe advantages amd disadvaniages ;
of {rrigntion - - 6. fa) What is meant by frequency of
= = irrigati :
" Dil‘l’cutnlinte between li and  flow , '53 -; i"i:::;::?“itu:lidtip frequency of ,
irrigation. g g
= £ ) What are different types of irrigation
4. {a) Define base period, delta and duty and ?g‘ %‘ efficiency? ”
establish a relation between them. 7 S S
() A channel is to be designed for irrigating E E - E;::L:ri:nli::|h11||n'|;‘:f|;:tnlll:lnhy |-I,_.ﬁlmu channel?
5000 hectares in Kharif crop and 4000 % % " 't:hﬂllﬂrq."lluln“ lulirv';;Tlu nnllru].,l;irnn of
hectares in Rabi crup. The water \) Ireigation channel r:.. the r..ﬁ:.:};‘ ”‘l'Il " -“"
requirement for Kharif and Rabi are U Diact ’ owing data : 14
60 cm and 25 cm respectively. The Kor Acharge, Q =60 cumee
period for Kharif is 3 weeks and for Rabi Lacey's ailt factor, f=1.0
in 4 weeks. Determine the discharge of Trapezoidal section aide-
channel for which it is to be denigned. 7 slope = % (H) ; 1 v)
8. Define groan command nren and culturnble 8. Design a concrete lined channel of triangular
command area. The groan command aren of section to carry a discharge of 55 cumec ata
wn drrigation project in ) Jakh hectaren. The slope of 1 in 10000. The side slope of the
culturnble command uren in 75% of OCA, channel are 1-25 (H) : 1 (V) and Manning’s N
may be taken as 0-018. 14
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(7))

9. fa) Write short notes on (any twol :  3%72%/

fiy Well shrouding and well
development

(@) Types of open well

fd) Infilration galleries

(b) Describe the relative merits and
demerits of well irrigation and the canal

irrigation. 7 -'51
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